2021 - 2022

S.No	Name of the Teacher	Title of the Book Published	Title of the Chapters Published	ISBN Number	Name of the Publisher	Department
1.	Dr.V.Vasumathi	Ilakki yacholai		978-81-2344-222-8	New Century Book House	Tamil
2.	Dr.V.Sedipoun	Chevviyal Ilakkiyangalil Kulanthai		978-81-954592-0-9	Paplo Pathippagam	Tamil
3.	Dr.S.Maheswari	Anuvin Aakkam		978-81-954592-1-6	Paplo Pathippagam	Tamil
4.	Dr.M.Radha & Dr.G.Yamuna	Economic Analysis for Business		978-93-5625-062-8	Scientific International Publishing House	Economics
5.	Dr.P.Geetha & Dr.S.Sripriya	Business Economics		978-93-94002-72-2	Scientific International Publishing House	Economics
6.	Dr.G.Yamuna	Banking Theory Law and Practice		978-93-92992-48-7	Scientific International Publishing House	Economics
7.	Dr.S.Sripriya	Recent Developments and Innovations in SocialScience, Arts & Humanities	Globalisation and SMEs in India: Performance and Prospects	978-81-924744-2-6	V.V.V Vanniaperumal College for Women, Virudhunagar, Tamil Nadu	Economics
8.	Dr.V.K.Saraswati Dr.S.Shenbagavalli, Dr.S.R	History of the Marathas	History of the Marathas	978-81-957614-0-1,	QuingPublications,Puducherry	History
9.	Dr.S.Renukadevi	History of Social Movement in India"- Social Movement in India in Contemporary Era,	History of Social Reform Movement	978-93-90863-693	National Press Associates	History
10.	Dr.P.Karpagavalli	Annual International Conference on Mulitidisciplinary Research and Innovation Volume II	Health and Financial Perceptionof Tribal Community in Udumalpet Taluk	978-93-95196-28-4	ESN Publications	History
11.	Dr.P.Karpagavalli	Reinventing Gender Equality Replacing Bias with Inclusing	The Iconic Effect of EVR on Women's ProPerty Right	978-93-5515-291-6	Book Rivers	History
12.	Dr.P.Deivakani	Advancing Research for Innovation, Sustainability and Enhancement	Economic Status of Working Women in Hosiery Industries: With Special Reference to TiruppurDistrict, Tamilnadu	978-93-91303-22-8	Jupiter Publications	History
13.	Dr.G.Karthiga	History of Social Movement in India"- Social Movement in India in Contemporary Era,	Swami Vivekananda -As a Social Reformer	978-93-90863-69-3	National Press Associates	History
14.	Dr.S.Vijaya	History of Social Movement in India"- Social Movement in India in Contemporary Era,	Social and Religious Reform Movement	978-93-90863-69-3	National Press Associates	History
15.	Dr.B.Rajalakshmi	History of Social Movement in India"- Social Movement in India in Contemporary Era,	Temple Entry Movement -Spl Reference on Nadars	978-93-90863-69-3	National Press Associates	History
16.	Dr.K.Sathyapriya	Chimamanda Ngozi Adichie's Fiction: A Spectacular Drama of Myriad Ordeals for Integration		978-81-95459-23-0	Pablo Pathippakam	English
17.	Dr.A.Vadivukarasi	Ethos & Essence		978-81-95459-22-3	Pablo Pathippakam	English
18.	Dr.P.Jayalakshmi	Computer Networks		978-93-92992-83-4	Scientific International Publishing House	Mathematics
19.	R. Chitradevi, V. Anitha	Smart Technologies and Applications	Evaluation of Chemical profile, in vitro antibacterial and antioxidant activities of essential oil from A.heterophyllus (L) leaves	978-93-5593-352-2	Ramco Institute of Technology, Rajapalayam	Chemistry
20.	R. Chitradevi, V. Anitha	Multidisciplinary Aspects in Chemistry, organised by Ramakrishna Arts & Science College, Coimbatore	Preliminary phytochemical analysis and invitro anticancer and anti Inflammatory activities of A. heterophyllus leaves, in	978-93-5593-230-3	Sri Ramakrishna Colege of Arts & Science, Coimbatore	Chemistry

			Virtual			
21.	D.Abirami & Manimekalai K	Principles and methods of explainable artificial	Framework for classifying	978-16-68437-91-9	IGI Global	Zoology
22.	Dr.M.Kalavathi	A study on consumers' preference and satisfaction towards online shopping in Udumalpet taluk with special refernce to flipkart		978-93-5602-905-7	Chetna Divyang Vyas	Commerce
23.	S.Shobana	Machine Learning for Handwritten Character Recognition		978-93-5625-086-4	Scientific International Publishing House	Computer S
24.	N.Priyadharshini	Innovation and Environment Sustainability	A Constructive Deep Learning Applied Agent Mining for Supported Categorization Model to Forecast the Hypokinetic Rigid Syndrome (HRS) Illness	978-981-16-9012-9	Springer	Computer S
25.	B. Iswarya,K.Manimekalai	Essentials of Techno pedagogy	Mobile App for teaching Learning	978-93-91373-16-0	shanlax	Computer A
26.	B. Iswarya,K.Manimekalai , T.Satheeshkuma	Essentials of Techno pedagogy	Artificial Intelligence: Way Forward to new revolution in education	978-93-91373-16-1	shanlax	Computer A
27.	K.Manimekalai	Challenges in Education, Business and Technology	Digital Innovation in Education on a Global Scale during Pandemic	978-984-35-2448-5	KMF	Computer A
28.	K.Manimekalai,Dr.K.Indhuja Abirami	Reinventing Gender Equality: Replacing Bias with Inclusion	Role of Education in Women Empowerment	978-93-5515-291-6	Rivers	Computer A
29.	K.Manimekalai, B.Iswarya	Trends on Consumer's Buying Behavior	Consumer Behaviour Paradigm:Special Reference to Online Shopping	978-93-91531-68-3	Anjuman Prakashan	Computer A
30.	K.Manimekalai	Transformion of Teaching Learning Statergy in Digital Era	Empowering Quality Learning through Outcome-Based Learning	978-93-95422-04-8	shanlax	Computer A
31.	K.s. Neelavathi, K.Manimekalai	Transformion of Teaching Learning Statergy in Digital Era	An overview of Augumented Reality	978-93-95422-04-8	shanlax	Computer A
32.	Dr.J.Rajeswari	Recent Trends in Computer Science	Artificial Intelligence: Recent Trends And Its Applications	978-93-93622-04-4	Innovation Online Training Academy Publishers	B.Sc CS(AI)
33.	Dr.A.Elakkiya	Current trends in multidisciplinary research	A Review on Stress Buster Using EEG signal Analysis	978-93-95196-50-5	ESN Publication	B.Sc CS(AI)
34.	P.Kavitha	Innovative Librarianship: A Foresight on Aatmanirbhar Baharat'	Shodh-Chakra Researcher Perspective	9.78939E+12	Todays and Tommorrows Printers and Publishers	Library
35.	P.Kavitha	Open Access Sources and Information Services during Post-Covid Times: Challenges and Opportunities	Information Literacy Skills of Post Graduate Students of Sri G.V.G Visalakshi College For Women, (Autonomous), Udumalpet, Tamilnadu: A Discipline Based ComparativeStudy	978-81-85216-54-6	Indian Library Association	Library
36.	Mrs.R.D. Beulah	Recent Trends in Mathematics and Statistics	Some Operations on Intuitionistic Fuzzy Soft Hypergraphs	978-93-5570-433-7	AkiNik Publications	Mathematics
37.	Dr.P.Geetha & Dr.S.Shenbagavalli	Defining, Designing and Developing Learning Outcomes - based Curriculum Framework in Arts & Science Colleges	Defining, Designing and Developing Learning Outcomes -based Curriculum Framework in Arts & Science Colleges	978-93-5578-229-8	KG College of Arts and Science, Coimbatore	Economics

				Irrigation		Madurai	
	39.	Dr.R.Rajini	Irrigation and Economic Development	A Study on Utilisation of Modern Irrigation Techniques in Udumalpet Taluk, Tirupur District	978-93-92995-08-8	L Ordine Nuovo Publication, Madurai	Economics
	40.	Dr.M.Mehar Banu	Irrigation and Economic Development	An Overview on Parambikulam - Aliyar Project (PAP)	978-93-92995-08-8	L Ordine Nuovo Publication, Madurai	Economics
	41.	Dr.D.Manimozhi	Irrigation and Economic Development	Micro Irrigation: An Efficient Technology for India's Sustainable Agricultural Growth	978-93-92995-08-8	L Ordine Nuovo Publication, Madurai	Economics
	42.	Mrs.C.Sri Priya	Irrigation and Economic Development	Drainage and Irrigation Management System in Udumalpet Taluk, Tamilnadu Utilising GIS	978-93-92995-08-8	L Ordine Nuovo Publication, Madurai	Economics
	43.	Dr.D.Manimozhi	Impact of Covid – 19 On The Indian Economy	Impact of Covid – 19 on the Mental Health of Children Adolescents in India	978-93-91286-20-0	Mayas Publication	Economics
	44.	Dr.K.Kaliammal	Human Values and Gender Equity		978-81-954811-0-1	Garudan Publication, Udumalp	et Economics
	45.	Dr.S.Shenbagavalli	Integrated and Transformative Teaching- Learningthrough Digital Convergence'	Defining, Designing and Developing Learning Outcomes- based Curriculum	978-93-5578-229	by IQAC, KG College of Arts a Science	and History
	46.	Dr.P.Deivakani	IJAR&D – International Journal of Academic Research &Development",Bi-Annual Peer Reviewed RefereedJourn	Health Condition of Women Worker's inHosiery Industries of Tamilnadu	2395-1737.	Bharti Publications, New Delhi	i History
	47.	Dr.S.Geetha & Dr.K.Deepa	Classics in Translation: Poems and Short Stories		978-81-949776-3-6	Pacific Books International	English
	48.	Dr.P.Padmavathi	Human Values and Gender Equity		978-81-954811-0-1	Garudan Publication	Mathematics
	49.	T.V.Banumathi & J.Sree Sudha	AIP Conference Proceedings	Impact of doping transition metalin optically sensitive CuS with as prepared CuS	2369, 020125 (2021)	Published by AIP Publishing. 9 7354-4121-7	78-0- Physics
	50.	R. Chitradevi, V. Anitha	Emerging Trends in Science and Technology	Equilibrium and Kinetic studies on Adsorptive Removal of Crystal Violet dye Solutions by Green Adsorbent from Bauhenia tomentosa Seed pod Powder	978-81-953602-0-8	Nallamuthu Gounder Mahaling College, Pollachi	gam <u>Chemistry</u>
	51.	N. Sathyapriya	Recent Trends in Research and Information Technology	An analysis of Opinion mining using different Machine Learning algorithms	978-93-91387-20-4	Marudhar Kesari Jain College I Women	For Computer Science
	52.	R Abarna Sri, S.Sasikala	Conference on Recent Trends in Research and Information Technology	Impression Of COVID In E- Commerce Platform For The Duration Of Epidemic	978-93-91387-20-4	Marudhar Kesari Jain College I Women	For Computer S
54.	R Aba	ırna Sri, N. Priyadharshini	on Society E-	ealing with the effectiveness of Commerce platforms in a undemic	-93-5526-208-0 Edumi	nt Weebly Con	mputer S
		adharshini	Advanced Materials for Sustainable Future M	onitoring Systems: A Review			mputer S
56. 1	N Priy	vadharshini vadharshini		achine Learning: Trends, 978 erspectives And Prospects	-93-5526-075-8 Sri Kri Scienc	_	mputer S

An Empirical Study on Drip

L Ordine Nuovo Publication,

978-93-92995-08-8

Economics

Dr.K.Kaliammal & A.Poornima

Irrigation and Economic Development

57	· N Priyadharshini	AI and IoT for Agriculture Innovation and Environment Sustainability	An Analysis of Agriculture and Healthcare using Blockchain embedded with IoT and AI	978-81-957709-5-3	Dr NGP Arts and Science College	Computer S
58	· N Priyadharshini	Impact of Covid – 19 On Organization ,Society and Individuals	Insight On Scheme Of E-Learning Through Agent Minng For Higher Education Learning	978-93-5493-048-5	Edumint Weebly	Computer S
59	Mrs.A.Parameswari	Post Covid 19 Business Eco System and its Implications on Society	Impact OF Covid 19 on Business	978-93-5526-208-0	Edumint	B.Com (CA)
	Mrs.S.Hemalatha	Impact of Covid 19 Pandemic on Education - A Global Perspective	Changing Marketing Strategies	978-93-5578-503-9	Edumint	B.Com (CA)
60	· K.Nandhini,K.Manimekalai	Computing and Intelligent System	Image Mining Techniques in Skin Cancer Detection	978-93-5526-075-8	ICCIS 2021	Computer A
61	· K.Manimekalai,B. Iswarya	Microeconomic Impacts of COVID - 19 Pandemic	Socio Economic Impact of Covid 19 on Household	978-984-35-1281-9	Center for Academic and Professional Career Development and Research	Computer A
62	· K.Manimekalai	Covid 19 - Pandemic Issues on Sustinable Development Goals	Role of a Teacher and Technologies during Pandemic	978-93-91373-45-0	shanlax	Computer A
63	· K.Manimekalai	Cyber Security	Protection of Women and Children in Cyber World	978-93-91373-16-0	shanlax	Computer A
64	. Dr.M.Amsaveni	Impact of Covid 19 Pandamic of Education - Global Perspective	Highlights of National Education Policy 2020	978 -93-5578-503-9	https://edumint.weebly.com/publica t_ions.html	B.Com (SF)
65	· Dr.R.Sathya	Banking Theory Law and Practice	_	978-93-92992-40-7	Scientific International Publishing House	B.Com (SF)
66	Dr.V.Simi	Impact of Covid 19 Pandamic of Education - Global Perspective	Challenges and Opportunities Faced by Education Sector During the Covid 19 Lockdown Period	978 -93-5578-503-9	https://edumint.weebly.com/publica t_ions.html	B.Com (SF)